[ Efficiency vs vertpos |

L +|

s
T T T T
=
]
+
+
—
+
n
4
=
Ly
+
—

+

0.9 :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original
Efficiend —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

—— DQM_TT__mod_modelsdeep_something3
~ 0.5

L R R H S S

ot T R
L S e S
> E : : : : :
2 E : : : : :
o
o o : : : :
£ 03 b
o E : : : :
O RS IR S
SR RO N R
R RS RS SRS S S R

7 SSSURR SORRRN| USROS SRRRRRN SRR O

0.05F -1 +—*+ﬂ-£-*¢w§%- ------ {
E : i* T " |
S UL it Attt h O
T E : : i
o 1.1:— """" preese T (134

I | I
093556 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

10
1.1
il
0.9F-

0551510

Ratio

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


